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8D 9. 3a-2b+1
12.
13.

14.

15.

16.

17.

10. 64 11. -1
128

(D) JER =m” +m” - (-8m"”) =
m” +m"” +8m"” =10m"

(D) FEX =m" +m” -m’ =m’,

G FER = -(y-2)" +(y-2)" + (y -0)"
=-(r-0)"7 - (y-0)"=-(y-0%
fitt: (DA (2 +3) (y+3) =12,

PTPA xy +3x +3y +9 =12,

N xy +3(x+y) =3,

Bix+y =2 fCA, Fxy +6 =3 Ml xy = -3,
(2)Yxy=-3,x+y=2Hf,

X =(x+y) +2y=2"+( -3) =4 -
3=1,

R (1) JERX =9%" —6x +1 —9x” —2x +
-1 =x" -8,

Moy =8 i, K 8% -8 x8 =0,

(2) J5iz =4x” + 4wy +97 — (94 - 6ay +
¥ +5(x" =y")

=4 +dwy +y° -9 +6xy —y +5x° =5y’
=10xy -5y°,

%’[x:%,y:2 Hﬂ‘,)ﬁ;‘cﬁ:le%x2—5

x2> = -10,

(D) PRI =2(m —n) +2(m
+n) =2m -2n+2m +2n =4m,

(2) FE—: PR R =m® - n’
=7" -4* =49 -16 =33,

Tk PFGEE R AR = (m +n) (m
-n) =(7+4) x(7-4) =11 x3 =33,
fifg s (1) MCRUEAS

(3a+b)(2a+b) —(a+b)?
=6a’ +3ab +2ab +b* —a* —2ab - b’
= (54> +3ab) m’,
BRI AU (50 +3ab) m’,
(2)M a=2,b=4 1,5 =5x%x2" +3 x
2 x4 =44(m’),
P BRI T AU 44 m®

18. . (1) (a +b)* =a* +4a’b +64°b" +
dab® +b*
BF:(a+b) =(a+b)*(a+b)?
=(a” +2ab+b") (a* +2ab +b°)
=a' +4a’°b +6a°b* +4ab’ +b*,
(2)6 32 fRbr MRS, (a +
b)” AT 6 T,
BB N :1,5,10,10,5,1,

BT ASETF 32,

3)n+1 2" 0 BT ARYEAERA]
5, (a+0)" A (n+1)50,

k1 =2°,

1+1=2",

1+2+1=2°,

1+3+3+1=27,

FIrLh(a +b)" £50 REW ST 2"
1 -1=0,

1-2+1=0,

1-3+3-1=0,

firLh(a —b)" £ REFSET 0,

E_ENTESE

1.D 2.C 3.B 4B 5.C 6.C 7.D

8. A 9. LRI 10.38

11. DQ@ 12. La+ /B= "Ly
13. fi# . [A > OF L. CD , itk £ DOF =90°,
Bk 2 BOF =30°, itk £ BOD =60°,



RS

L 2 AOD =180° - 60° =120°,

14. fi# . Al L ABC + £ BGD =180°( E.411) ,
FITLA DG // AB ( [R] 5% N ff1 H#b, P L 26
FAT),

FILA 21 = £ 3(EZAT, NESFAMIEE)
NHEB L= 22(85),

FTLh 22 = 23 (S Ci) ,

TV EF // DB( [RYf fAHAE , P EETAT) o

15. i@ . NE P s o

P CHEB TH IR

16. f#: [N~y 21 + L DFE =180°, 21 + 122
=180°,
fiFLA £ DFE = 22, Jif ) EF //AB,
ffLl 2~ DEF = / BDE
YK LDEF = LA,
fifLL 2 BDE = £ A, JitL) DE //AC,
17. f#.(1)OF LOD, BEHWT .
K-/ OD 4y £ BOE, OF %4y L AOE
£ BOE =58°, / AOE =122°,

Ll / FOE = %LAOE ~61°, L EOD =

%41503:290,

L LFOD = L FOE + £ EOD =

( ZAOE + / EOB) =90°,
il OF 1 0D,

(2)H}y LAOC: / AOD =1:5,
/AOD + /BOD = 180°,
/ BOD,

Ll 2 BOD =30°, / AOD =150°,
% OD SE4y 7 BOE ,OF ¥4y / AOE,

£/ A0C

18.

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, -

J Lk 2~ BOE =2 / BOD =60°, / EOF =

1
5 L AOE

5% 2 AOE + / BOE =180°,

FFLA 2 AOE =120°, fi L £ EOF =60°,
fift: (1) A AB//CD,

FiLA PE//AB//CD,

L LA + L APE =180°, /. C + / CPE
=180°,

54 2 PAB =120°, / PCD =130°,

fif LA 2 APE =60°, / CPE =50°,

ffl £ APC = / APE + / CPE =110°,
2)DsLa=2sB+ Ly, HEIT: Y5
P1E A, B W & 2z | B, 0B @, fE
PQ//AD,

0

K4 PQ //AD,AD // BC,

LA PQ //AD // BC,

FrA2DPQ = 28,/ CPQ = Ly,
Kk 2 CPD = £ DPQ + £ CPQ,

Il La= 2B+ Ly;
@455 P1E B, O Wi S Z AT, INEQ),
& PQ //AD,

M-
A

b K
I

®)
[K>% PQ //AD ,AD // BC,
FiF LA PQ//AD //BC,
JIFLA £DPQ = LB, LCPQ = Ly,
K& 2 CPD = £ DPQ - £ CPQ,
ffLhZa=2B8- Ly,




8. B 9.5=100¢
11.
13.

14.

M5 P ES L AM EEF, @), 1E
PQ //AD,

K4 PQ//AD ,AD // BC,

JITLA PQ //AD // BC,

FILA £DPQ = 2B, £ CPQ = Ly,

Kk LCPD = £ CPQ - £DPQ, Fit LA

F=FNTE

1.C 2.D 3. A 4.C 5.C 6.B 7.C

10. y =36x +120(x >5)
15 12.900

fitt s (1) B 9% 4 A0 W 4E R 1 =2 (8] )
Firits 98 4 o A AR i, TTHAR R A A

=1
AR,

(2) ATRABLBE—A4~ 7 AT I A
WATABE R — 14~ 2 200, i —1- 4
fCICHH .

AR —A 14200, 8 —14~ 6
fCITmmiH

(3) I =Fh75%.O1 175,278,771
G, M 1. 45 {ZC,

22 1¢7t,8 4¢ot, M 1. 35 {47t
34 1¢7t,6 A¢IT, M 1. 25 /47T

I LLTIU s KA 1. 45 4200,

fi: () ATRRAYBEAR AR Ax i i
(2)50 38

(3)H1(2)7%,0 =50 -0. 08s,

24 Q =22 1,22 =50 -0. 08s,

fift s s =350,

WA, B P2 8] (1 2 350 km,

15.

16.

17.

18.

fife: (1) fEXAD Bt B, B2 &
DE (K, A8 /& ABEC WA,
(2)y:%xBCxDE:4x(OSx<6) o

(3)Yx =3 ff,y=4x3=12(cm’),
fife: (1) B NECH « N, R, 15
yu = 0.5 x 1200x + 1 200 = 600x +
1 200,

y, =0.6 x1200x +0. 6 x 1 200 =720x
+720,

(2)§9’E|1 =Yz i,

600x + 1 200 =720x +720, fi#f5 x =4,
B x =4 B R TAE B —FF
(3) 2 yy >y, BF,600x +1 200 >720x
+720,

15 x <4,

Y x <4 B, CHRITHEAL

Moy <y, W, 600x +1 200 < 720x
+720,

13 x >4,

B v >4 0 R TR

Zi BT, 2 x <4 B, ZGRI TR EE,
Mow =4 I, PR THE— AL,

Mow >4 I FRFTHEICE

fit.(1)2.5 (2)20

35 _18
(3)1.5+ 5= (kmv/h)
e /NBH N ST B B K E A

17—8 km/h,

fife: (1) B E]
(2)2 300

) AW LB B M T RS, hg—I3L
45T 1 200 +600 +900 =2 700 (m) ,
—ILH T 14 min,
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1.A 2.A 3B 4D 5.C 6.B 7.B
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4=

=R

8.D 9.10 cm 10.76°
12.
13.

14.

15.

MER) #F LFA TH ITRIR

11.2 5 4
18 5§ 70

fift: (1) RN AF £ AABC frp £k,
ffLL BC =2BF =2CF ,BF =CF,
Jiff LA AABF 1 AACF T FRAHSE
o AAFC TR N 10,

BT A AABF #TER LA 10,

Kl AD =4,

F)fLJ%xBFx4:10,FﬁLJ BF =5,

FiLA BC =2BF =10,

(2) Bk AD 2 AABC W&, Bt Ll £ ADC
=90°,

Kk £ DAE =20°, fif )k £ AED =180° —
90° -20° =70°,

KA 2 C =30°, Fr DA £ CAE = L AED -
/ C=40°,

Ko AE J& AABC 18-V Ir4k,
JirLk 2 BAC =2 / CAE =80°,
fifLA £ B =180° — L BAC — £ C =180° -
80° -30°=70°,
fit . Nk 2BCD = £ A+ /B= /BCE +
/DCE,/B=/BCE,
FiLl 2 A=/ ECD,
1E AABC FIACDE

/A= /ECD,

/B=/CDE,

AC =CE,
fif Lk AABC = ACDE ( AAS) , it Lk AB
=CD,
fife: (1) A4 AD L BC,
fii LA 2 DAC + 7/ € =90°,

Bk BE 1 AC, L £ EBC + /. C =90°,
Fi LA 2 DAC = £ EBC,
1E AAEH 5 ABEC 1,

/ DAC = L EBC,

AE =BE,

L AEH = / BEC =90°,

16.

17.

18.

fif L AAEH2 ABEC(ASA)
(2) ) AAEH< ABEC ,Jif 1) AH = BC,
% AB =AC ,AD 1 BC,

fif Lk BC =2BD, fif Ll AH =2BD,

fife: qnIEl, 5P B FSK o

fift . [l £ ACB =90°,

Jii LA 2 ECF + £ BCD =90°,
K>k CD 1L AB,
fLL 2 BCD + / B =90°,
fiLA 2 ECF = / B,

£ AABC  HI

/B=/FCE,

BC =CE,

/ ACB = / FEC =90°,
AL AABC =« AFCE (ASA), fIiF L AC
=FE,

JfL AE =AC - CE =EF —= CE =5 -2 =
3(cm) .

f#t. (1)} BE L EA,CF 1 AF,
BT £ CFE = £ BEA = £ BAC =90°,
LA £ EAB + £ CAF = 90°, / EBA +
/ EAB =90°,

fifLL £ FAC = £ EBA,,

1E ABEA Fl AAFC W, / BEA = / AFC
=90°, L EBA = / FAC, BA = AC, JIii L4
ABEAx2 AAFC(AAS) ,

JifL EA = FC ,BE = AF

fifLA EF = EA + AF = FC + BE,

(2)Bl BE 1 EA,CF 1 AF,
JifLA 2 CFE = / BEA = 7 BAC =90°,
fifLh L EAB + £ CAF =90°, L ABE +
/ EAB =90°,

AFCE



ATl £ CAF = £ ABE,,

1E AABE F1 ACAF %, / BEA = / AFC
=90°, L ABE = / CAF ,AB = AC,

fif LA AABEx2 ACAF( AAS) ,

FTLL EA = FC =3 ,BE =AF =10,

fiiLL EF =AF —=AE =10 -3 =7,

EHERTH

1.C 2D 3.D 4 A 5.C 6.B 7.B

12

8D 9.D 10.3 11.4 12.—

13.

14.

7
fig: (1) H k2B =50°, 2C=62°,
FF Lk 2 BAC =180° —50° —-62° =68°,
KR AD J& V2R,

1L 2 DAC :%LBAC _ 340,

[ DE LAC, Jif LA L AED =90°,
FiF LA £ ADE =90° —34° =56°,,

(2) Nk A DF LAB, T2 g i F o
A

Fi
B

E
D C

Bk AD 2 ff1 F 4y 2%, DF 1 AB, DE
LAC,

FirA DF =DE =3 Bl 55 D 3| AB By 25
3

fi: (1) AODE j£4531 =M. HH
W .

Ko AABC 32551 = ME

LA £ ABC = £ ACB =60°,

Kk OD //AB,OE // AC,

fif Pk £ ODE = £ ABC = 60°, £ OED =
/ ACB =60°,

JIT LA AODE Jy%501 =T .

(2) Bk OB -4y 2 ABC,0D // AB,
ffk £ ABO = /. DOB, / ABO = / DBO,

15.

16.

17.

fii Lk 2 DOB = £ DBO,

fifLA BD = 0D, [RA[HE CE = OF,
Jir LA AODE B JEK =BC =10,

it ANEL L, SE AP 28 BC T 58 D,

K>k BP ¥4y £ ABC,

ff UL ~ABP = /DBP, H BP = BP,
/ APB = / DPB,

il AABP = ADBP ( ASA) , fif Ll AP
=PD,

FITELS wasp =S s »S sarc =S acor s

e LA SAPBC = :

5SAABC =9,
fit. (1)BC' FC'
(2) HEPTR PR Al A . £2 = L BEF
K& AD //BC,J) Lk £2 = £ 1 =55°,
FRLL 23 =180° =2 x55°=70°,
fife: (1) Bk 1 J& AB I P40 42,
fifl DA = DB,
KR 1, & AC 3 H V-3 48, LA EA
=EC,
BC=BD + DE + EC = DA + DE + EA =
12(cem)
()AL, J& AB Vo042,
fifL OA = OB,
AL J& AC g H V-4, BT 0A
=0C,
HA OB + OC + BC =32(cm)
L OA=0B=0C=10(cm)
(3)2n° -180°,
fifE T : A £ BAC =n°,
fiLA £ ABC + £ ACB =180° — n°,
[F*4 DA =DB,EA =EC,
Jfl 2~ DAB = / ABC, / EAC = / ACB,
Ji Lk « DAE = / BAC — / BAD - / EAC

R



BIRER) HF LFR TH LIFRRK

=n°-(180°-n°) =2n°-180°,
R (1)25° 115°
(2) 4 DC =2 i}, AABD2 ADCE,,

7N

FH. AR 2C =40°, fif UL £ DEC +

/ EDC =140°,
YA Yy £ ADE =40°,

1

FBA £ ADB + £ EDC =140° L\ L ADB

= / DEC,
NN AB=DC =2,
AT AABD«2 ADCE( AAS)

(3) 24 £ BDA W FE%CH 110°5 80° M,

AADE WIEARIEEIE = MTE .

. DY £BDA = 110° B, LADC

=70°,

K-k 2 C =40°, £ DAC =70°, L AED =

/C+ £EDC=30°+40°=70°,

16

%MAMCz@wa%uAumm%Q

WIRFE =AM

@24 ~ BDA 11y FE ¥ &y 80° i}, ~LADC

=100°,
Bk £ C =40°, iF ) £ DAC =40°,
ff LA 2 DAC = / ADE,

it A AADE BT AIRIE S = fAE o

FEARENITES

1.D 2D 3.C 4D 5.D 6.B 7.D

8. A 9Nl 10.0.72 11. -

2
12. DB

3. ff: (1) M BT B —BR , W77

e HE B — AN LLBR, WAl B —

WBko I AR AR R — AV BK,

s HEGEREPLR A o

18

(2) LA LA 3 AN BBk, T 48 T —

UALHLS A ER, g iERkE A AT RER AT

(3) 1St PRI © 15k AT

2L F =R I ERERST TR IR T

15.

17.

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, -

fiff: (1) BAR AP LLER IO o, ARGE R

= /H
ISKE3

=2 i x =40,

P LAAS 2T BRI AN H0R: 40,

(2) R PAHBEEK y A4, RS ETT Sy
+y +40 =100, f#f5 y =10,

M E3RA 10 4,

JIrLA P(NAS P — N EROE T BK) =
10 1

100 10°
fift  RUORFE BT TR R B 3 IR IX

BT 3 OB g

5

150 PN

fit: (1) P(/NW ) =
_1

12°
(2) AL, ¥ Horp—A> R4 i SR BR
J& , WERR Ao
fift: N AR U/ ABFE v, AABM 1)
T FEE T Ui ABFE /) —>F, 7E /Uil
J& CDEF v, ACND {1 FRZ5E T U b i
CDEF [f)—2, it DL CEVE 1625 F 4

CEESE

fift: (1) AR BRI % 0 (0. 63 +
0.62 +0. 593 +0. 604 +0. 601 +0. 599 +
0.601) +7~0.6,

i LY S50 8 5 000 YR, 5531
BRI ZR 2545238 0. 6

(2)0.6 fift#i : AR BRI
0.6,

Fir AR A0 AR 85—, P (8L B k) =
0.6,

)it & FHEMBERA 40 x (1 -
0.6) =16(/°) .





